
Corporate Office:
95 Midland Road

Saginaw, Michigan 48638-5770
(989) 799-6871

Fax (989) 799-4524
(800) 234-6871

http://www.saginawcontrol.com
E-mail: sce@saginawcontrol.comYour Enclosure Source R

 

SAGINAW CONTROL & ENGINEERING
ISO 9001:2000 Certified Company

SHEET: 1  OF 1

SPECIFICATION: PURCHASED, INSTALLATION

REV:  --TITLE: 114318

BILL OF MATERIAL
PART I.D.PART DESCRIPTIONQTYITEM

100896Nut, Hex Full, 10-32, Steel, Zinc Clear11

100897Nut, Keps, 10-32, Steel, Zinc Clear12

103241Flat Washer, #10, Steel, Plated Zinc Clear13

104937Screw, Hex Head, Full Thread, 10-32 X 5/8", Plated Zinc Clear14

114322Lock Washer, Internal, External Tooth, 1/4, Steel, Zinc15

N/AGrounding Label16

GROUNDING
LABEL

114318
GROUNDING KIT

GROUNDING
LABEL114322

100896 100897

104937 103241

 1 

 2 

 3 

 5 

INSTALLATION VIEW

GROUND WIRE
NOT INCLUDED

1/4-20 BSO
PROVISION

IN ENCLOSURE

1/4-20 PHILLIPS HEAD MACHINE SCREW IS
INCLUDED IN SUB-PANEL MOUNTING BOLT PACK

 4 


